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10-6.*(Updated 9/21/06)
a) XOR =00, NAND =01, NOR=10 XNOR =11

Out = Sl KB_‘I' §1A§ + §1KB + SISOAB + (One of SO K E or §ISOK)

b) The above is a simplest result.

10-8.*
(a) 0101 (b) 0110 (c)1010  (d) 0110

10-10.*



Problem Solutions — Chapter 10

(@)
(b)
(©)

R5 < R4 ARS R5 =0000 0100
R6— R2+R4+1 R6=11111110
R5 < RO R5 = 0000 0000

(d) R5 < RO R5 = 0000 0000
(e) R4 < srConstant R4 = 0000 0011
() R3 < Data in R3 =0001 1011

10-14.*

a) Opcode =7 bits b) 20 bits

c)

1,048,576  d) -524288 to +524287



